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GUESS PAPER - 2008
Class - X
SUBJECT - MATHEMATICS
Time: 3 hr                                    



Max marks: 80

Paper II: Mathematics
SECTION- (A) (one mark for each question)
1. Find the value of  11th term from end of the A.P.: 10, 7, 4,…….,-62.
2. The graph of y = ax2+bx+c cuts the x axis at (p, 0) & (q, 0). Find the zeros of ax2+bx+c.
3. The perimeter of sector of circle with central angle 90• is 25 cm. Find the radius of circle. 
4. Explain why 11 x 13 x 15 + 11 is a composite number.

5. Two coins are tossed at the same time. What is the probability of getting at most one head?

6. [image: image1.png]In a given figure,  AB=6cm , BC=7 cm ,CD=4 cm, find AD.                       D                 C

7. If 2 cos θ = cot θ find value of cos2 θ -sin2 θ
8. ABC is an isosceles ∆ right angled at C. prove that AB2= 2AC2.
9. Find HCF of 96 & 404 by the prime factorization method.                            A                  B
10. Write the discriminant of equation √5x2- 3√6x – √20 = 0.

                                        SECTION- (B) (two marks for each question)
11. If B& Q are acute angles such that sin B = sin Q then prove that ∟B = ∟Q.

                                                           Or
    In PQR, right angled at Q, PR+ QR =25 cm & PQ = 5 cm. Find value of sinP & tanP.

12. PA & PB are two tangents from an external point to a circle with centre O. Show that quadrilateral AOBP is cyclic.
13. Find a cubic polynomial with the sum of zeroes, sum of the product of its zeroes taken two at time and product of its zeroes as 2,-7,-14 respectively.

14. Find the smallest number which when divided by 25, 40, & 60 leaves reminder 7 in each case.

15. If the point P (-1,-1) divides internally the line segment (-3, a) & B (b,-7) internally in ratio of 2:3, find a & b.
                                      SECTION- (C) (three marks for each question)
16. The sum of two digit number & the number formed by interchanging the digits is 110. If 10 is subtracted from the first number, the new number is 4 more than 5 times the sum of digits in the first number, find the number.
17. The line segment joins A (2, 3) & B (-3, 5) is extended through each end by a length equal to its original length. Find coordinates of the new ends.
                                                                     or

    The line joining the points (2, 1) & (5,-8) is trisected at the point P & Q. If point P lies on line  2x-y+k=0, find value of k.

18. If the nth term of A.P. is given by tn = 4n-5. Find the first term & sum of n terms of A.P.
                           Or

   The sum of n terms of AP is 3n2 + 5n. Find which term of A.P is 152.

19. Construct an isosceles ∆ whose base 6 cm & altitude 3 cm and then another ∆ whose sides 1.25 times the corresponding sides of ∆ ABC.
20. Find value of m for which the points (3, 5), (m, 6) & (1/2, 15/2) are collinear.
21. Prove that if tan2 A= 1+2 tan2B, then 2sin2 A=1+sin2B. 

22.        A                          .                                                                                                                                                       
          X                Y          area of ∆ABC =16 cm2 XY 11gm BC, AX: XB =3:5, find area of ∆BXY                  
        B                     C
23. Sum of areas of two squares is 468 m2. If difference between their perimeters is 24 m, find the sides of two squares.
                                                                or

    Solve the equation by quadric formula   a2b2x2-(4b4-3a4) x -12a2b2 = 0.
24. two dice are thrown at same time what is the probability of getting sum of the numbers on the top of two dice (i) 7 (ii) neither 9 nor 11 (iii) prime number
25.  Two circular flower  beds have been shown on two sides of square lawn of    side 56 cm. if the  centre of each circular flower bed is the point of intersection ‘O’ of the square lawn . 

                                                        A                     B                                                        

                                                       

                                                     o             56cm                                                                                                                    
                                                        D                     C                                                                                                                                                                                                              
     Find the sum of area of lawn & flower beds.
                                           SECTION- (D) (six marks for each question)
26. In a right ∆, the square on the hypotensue is equal to square on the other two sides, prove it. Using above theorem solve the following question. The perpendicular from A on side BC of ∆ABC in intersects BC at D such that DB =3CD, prove that 2AB2=2AC2+BC2.
27.  A boy is standing on the ground and flying a kite with a string of 150 m at an angle of elevation of 30•. Another boy standing on the roof of a 25 m high building & flying his kite at an elevation of 45•. Both the boys are on opposite sides of both the kites. Find the length of string in metres that the second boy must have so that two kites meet.

28.  Water flows through a circular pipe whose internal diameter is 2 cm, at the rate of 0.7 m per second in to a cylindrical tank, the radius of whose is 40 cm. By how much will the level rise in the tank in half an hour.
                                                                     or
       Selvi‘s house has an overhead tank in the shape of a cylinder. This is filled by pumping water from a sump (an under ground tank) which is in the shape of cuboid. The sump has dimensions 1.57m x 1.44m x 95cm.The overload tank has its radius 60 cm & height 95 cm. Find the water left in sump after the overload tank has been completely filled with water from the sump which had been full. Compare the capacity of the tank with that of the sump. (Take л = 3.14)
29. A survey regarding to heights of 50 boys of class was conducted & following data is obtained 
	Height(cm)
	140-145
	145-150
	150-155
	  155-160
	 160-165
	165-170

	No.of  boys
	     12
	     10
	     8
	       9
	       6
	       3


Draw both the ogives for the data & hence obtain the median height of boys.

30. A & B start from points P& Q in the opposite directions. After 2 hour, they meet at 24 km from P. when B reaches P, 20 km remains for A to reach Q. Find the distance between P& Q.

                                                                    or 

     Two trains leave the railway station at the same time. The first train travels due south & the second train due north. The first train travels 5 km/ h faster than the second train. If after 2 hour, they are 50 km apart, find the average speed of train.
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